CHAPTER 13

30 MCQ questions
1) Galton believed which one of the following?

a) All men are created equal.

b) Women are more intelligent than men.

c) Unintelligent people should be encouraged not to have children.

d) None of the above.

2) Which one of the following is true? The concept of intelligence:

a) Was devised to stop poor people from getting ahead in life.

b) Was borrowed from the domain of computer science to help explain how we think like computers.

c) Was first proposed by a psychologist called Descartes. 

d) Helps us to understand individual differences in people’s abilities.

3) Charles Spearman (1904) set out to estimate the intelligence of 24 children in his village school. He discovered a relationship between each child’s performance in a number of domains (including teachers’ ratings of ‘cleverness’ and ratings by other students of their ‘common sense out of school’) and measures of their ability to discriminate light, weight and pitch. In other studies, he found strong associations between scores on examinations in different subject areas such as classics and maths. Linking together these strands of evidence, Spearman concluded which one of the following statements to be true?

a) The height of the child and the light in the room affected their ability to learn and hence their IQ.

b) Intelligence must be a general facility, like a mental energy that is applied to all tasks. 

c) Teachers were poor judges of their students’ abilities.

d) Trying to measure intelligence in children was an impossible task.

4) Binet made a significant contribution to the study of intelligence – but which one of the following is NOT true about him?

a) In 1904, Binet was charged by the Parisian authorities to develop tests that would identify children in need of special education, without relying on the subjective reports of parents or teachers.

b) Binet’s technique for constructing the first test was based on an important insight: whatever intelligence is, we can be sure that it is constant with age. 

c) The first intelligence test was based on the central idea that the age at which the ‘average child’ can succeed at a particular problem is an indication of the difficulty of that problem. 

d) Using Binet’s yardstick, children can be characterized as ‘average’, advanced or delayed in their rate of development compared to their peers.

5) Calculating IQ can help us to understand a child’s abilities relative to his or her peers. Which one of the following is true?

a) A child scoring better than the average child of his age would have a lower MA than CA.

b) A child scoring worse than the average child of his age would have a lower MA than CA. 

c) A child who has an IQ of 100 is exceptionally intelligent.

d) A child who has an IQ of 100 is likely to know as much as an adult with an IQ of 100.

6) Which one of the following is true? Practising items on an intelligence test will improve:

a) Your IQ test score. 

b) Your intelligence.

c) Your general level of ability.

d) Your memory.

7) Which of the following do we know to be true?

a) Most children who are good at maths will not be good at spelling. 

b) Children who are good at maths are unlikely to be good at anything else, as maths is a very specific ability.
c) Children who are good at maths are very likely to become maths teachers.
d) None of the above. 

8) By observing his children at play, what did Piaget come to believe?

a) The errors that people make on intelligence tests are more informative than their total score.

b) The rate of cognitive development varies between children.

c) All children passed through the same stages of cognitive development eventually.

d) All of the above. 

9) The prestigious journal Science identified which of the following as one of the most significant discoveries and developments of the twentieth century?

a) Binet–Simon scale.

b) Reaction time.

c) The Eugenics movement.

d) The concept of IQ.

10) Which one of the following is NOT part of Sternberg’s Triarchic Theory?

a) Performance components.

b) Knowledge acquisition components.

c) Metacomponents.

d) Megacomponents.

11) The principle of general intelligence or ‘g’ tells us that which of the following statements is FALSE?

a) Children who perform well in one school subject and poorly in another are generally being lazy. 

b) Adults who are good at many things are likely to have high levels of ‘g’.

c) Most children who suffer from mental retardation will have functional deficits in many areas of their life compared to other children of the same age.

d) Our ability to approach novel problems will be easier if we have a higher level of general intelligence.

12) Which one of the following statements is correct? Gardner’s theory of multiple intelligences states that:

a) We all have high intelligence in some domain.

b) We have both general intelligence and specific abilities. 

c) We are all better (more intelligent) in some domains than in others. 

d) All of the above.

13) Inspection time is:

a) The time it takes for us to respond to a stimulus. 

b) The amount of time we need to see a stimulus before we can accurately process it. 

c) The amount of time it takes us to complete an intelligence test.

d) The time that it takes us to completely process something that we have never seen before.

14) Twins are often used to test the genetic bases of constructs such as intelligence. Which one of the following is true?

a) Identical twins are likely to be good at very different things because they ‘split’ their different intelligences.

b) Fraternal twins show lower concordance between their levels of intelligence than identical twins because they do not share any genes in common.

c) Identical twins have very similar levels of measured intelligence because intelligence is highly heritable. 

d) Fraternal twins rarely have an IQ above 100 because they have had to share their genetic material.

15) Which TWO of the following statements do NOT accurately reflect Detterman’s claims?

a) He claims to have solved the two major (and related) oppositions in the history of intelligence theory.

b) He regards intelligence as a low-level property of a complex intellectual system. 

c) He believes that general intelligence is real, but rather than being a single ‘ability’, it is better viewed as a high-level property of a complex system composed of multiple intelligences.

d) He believes that children who are intelligent are likely to be very quick at completing all of their schoolwork. 

16) Autistic children are a special case which must be explained for a theory of intelligence to be considered valid. Which one of the following statements is also true of autistic children?
a) They have low speed of information processing.

b) All have one exceptional ability, such as art or calendrical calculation.

c) They are thought to have modular damage resulting in difficulty processing social information. 

d) All have low IQ except savants.

17) According to Anderson, which one of the following is true?

a) Intelligence can be taught.

b) The amount we know increases as we develop. 

c) The speed at which we process information increases as we move from childhood to adulthood.

d) Intelligence is a flowchart.

18) Which of the following are accurate statements about IQ? (Please highlight all correct answers)
a) IQ predicts academic performance.

b) IQ predicts life outcomes such as adult income.

c) IQ can be compromised by an extremely deprived environment.

d) All of the above. 

19) Which one of the following statements about intelligence is correct? Intelligence:

a) Has low heritability.

b) Is genetic and is not affected by the environment.

c) In adopted children is more similar to the children they are brought up with than their biological relatives.

d) Has a substantial genetic influence. 

20) Which one of the following statements about factor analysis is FALSE? Factor analysis:

a) Is a statistical technique developed by Alfred Binet for identifying how many ‘factors’ underlie a large number of individual pieces of data. 

b) Has led to fierce debate about the relative merits of two different, but equally sound, approaches.

c) As used by Spearman, found a general factor of intelligence (g) and some specific factors.

d) As used by Thurstone, revealed seven ‘separate and unique’ primary mental abilities: word fluency, number facility, verbal comprehension, perceptual speed, associative memory, spatial visualization and inductive reasoning.

21) Three of the following statements correctly describe fluid intelligence. Please highlight the ONE that does NOT. Fluid intelligence:

a) Is one of two factors identified by Horn and Cattell, which they labelled Gf and Gc.

b) Was, according to Horn and Cattell, of similar importance to crystallized intelligence. 

c) Seemed to represent something akin to Spearman’s g.

d) Seems to be differently related to ageing than crystallized intelligence.
22) Which one of the following statements is FALSE?

a) Carroll and the APA Task Force on Intelligence have concluded that there is now a strong consensus that the inclusion of a g factor leads to a better factor structure when attempting to interpret findings obtained from ability testing.

b) Thurstone’s ‘primary mental abilities’ themselves correlate well with each other.

c) Horn and Cattell’s crystallized and fluid intelligence correlate poorly with each other. 

d) Thurstone himself acknowledged the existence of a general factor (i.e. a factor that all the original tests are correlated with).

23) Which one of the following statements is true?

a) As we grow into adults and learn more things, our intelligence increases, unless we have a brain injury.

b) As we grow into old age, our crystallized intelligence stays the same and our fluid intelligence declines. 

c) As we reach adulthood, our modules speed up.

d) As we reach adulthood, men show a decline in intelligence and women an increase.

24) Which of these is NOT the case, according to Anderson?

a) The first route to knowledge is through dedicated information-processing modules. 

b) The modular route is related to cognitive development.

c) Modules have evolved to provide information about the environment that cannot be provided by central processes of thought in an ecologically useful time frame.

d) If we had to ‘think through’ all the perceptual information presented to us in order to construct a three-dimensional view of the world, we would literally be lost in thought. 

25) Mental retardation is a complex phenomenon that tests our understandings of cognitive development. Which one of the following statements is FALSE?

a) There are specific clinical aetiologies, including Down’s syndrome, Fragile-X, autism and Praeder–Willi syndrome, that have little in common other than mental retardation.

b) There is support for the idea that there are two distinct groups of people with mental retardation – those with known organic aetiology and those who represent the low end of the normal distribution of general intelligence.

c) IQ is a poor predictor of functional abilities. 

d) Mental retardation is a lifelong condition.

26) The developmental and difference views are different approaches to understanding mental retardation. Which of the assertions below is FALSE?

a) The developmental view states that while the retarded as a group are disabled with respect to their same-age peers, they go through the same (Piagetian) stages of cognitive development.

b) According to the developmental view, retarded people simply develop more slowly.

c) The difference view says that there is a fundamental deficit associated with mental retardation.

d) According to the differences view, there can be cognitive equivalence between someone with mental retardation and a non-retarded person. 

27) Identify the INCORRECT statement from those given below:
a) A series of meta-analyses by Wiesz and colleagues (1986) split the developmental view into two components: (i) cognitive stages defined within a Piagetian framework and (ii) cognitive structures as defined by basic information-processing operations.

b) Children with mental retardation go through different kinds of knowledge restructuring than those described by Piaget. 

c) The majority of studies have found that participants with mental retardation perform more poorly on most cognitive tasks even when matched for mental age with the control group.

d) The phenomenon, of ‘mental-age lag’ supports the difference, or deficit, position.

28) Estimating IQ can be achieved in several ways. Which one of the following is true?

a) A person with an inspection time of 0.5 seconds is likely to be of higher intelligence than a person with an inspection time of 0.1 seconds.

b) Galton estimated a person’s intelligence by their eminence, and this has turned out to be the best measure of intelligence.

c) Reaction time is the best predictor of IQ as measured by the Wechsler intelligence tests.

d) The Binet–Simon scale was the forerunner of the Wechsler intelligence scales which are the most widely used tests today. 

29) Which one of the following statements about IQ is correct?

a) An IQ of 100 is the score used to determine eligibility to join MENSA, the society for intellectually gifted individuals.

b) An IQ between 90 and 110 is considered to be in the average range of intelligence.  

c) Children with Downs Syndrome have an IQ of 0 (zero).

d) As IQ scores increase, there are more people in the population with that IQ.

30) Family studies have been used to help understand the role of environment in the development of intelligence. Which one of the following statements is true?

a) Adopted children are likely to have intelligence closer to that of their adopted parents than their biological parents.

b) Non-shared environmental influences affect the differential development of intelligence in siblings more than shared environmental influences. 

c) Peers have a greater impact on differences in the development of intelligence amongst siblings than their parents do.

d) Measured intelligence is completely uncorrelated amongst genetically related family members.
